# 

### 

## 

#### **RESOLUTION NO. 2020-104**

RESOLUTION BY THE FINANCE AND HUMAN RESOURCES COMMITTEE AUTHORIZING THE ACCEPTANCE OF A STATE OF WISCONSIN DEPARTMENT OF JUSTICE - LAW ENFORCEMENT DRUG TRAFFICKING RESPONSE 2021 GRANT IN THE AMOUNT OF \$49,200.00 FOR THE SOUTH EAST AREA DRUG OPERATIONS GROUP (SEADOG), AUTHORIZING THE TRANSFER OF FUNDS WITHIN THE SHERIFF'S OFFICE - METRO DRUG STATE 2020 BUDGET, AND AUTHORIZING THE PURCHASE OF CAPITAL — POLE CAMERA AND RELATED ITEMS

To the Honorable Members of the Racine County Board of Supervisors:

**WHEREAS**, the Wisconsin Department of Justice Division of Law Enforcement Services has approved a grant award to the Racine County Sheriff's Drug Unit in the amount of \$49,200.00; and

**WHEREAS**, grant funding is provided by the State of Wisconsin to support the investigation and response to drug trafficking within the state; and

**WHEREAS**, the Racine County Metro Drug Unit is part of a South East Area Drug Operations Group (SEADOG), a taskforce engaged in the ongoing investigation of drug trafficking operations in the Southeastern Wisconsin region and beyond; and

**WHEREAS**, the Racine County Sheriff's Office requests the acceptance of the DOJ grant monies to ensure continued success of the SEADOG mission.

**NOW, THEREFORE, BE IT RESOLVED** by the Racine County Board of Supervisors that the Sheriff's Office is authorized to accept a Wisconsin Department of Justice Grant in the amount of \$49,200.00 to support the investigation and response to drug trafficking for the period of August 1, 2020 to June 30, 2021; and

**BE IT FURTHER RESOLVED** by the Racine County Board of Supervisors that the transfer of funds and capital purchase of a pole camera and related items, as set forth in Exhibit "A" that is attached hereto, within the Sheriff's Office Metro Drug 2020 budget is hereby authorized and approved.

		Respectfully submitted,
1st Reading		FINANCE AND HUMAN RESOURCES COMMITTEE
2nd Reading		
BOARD ACTION Adopted For		Robert N. Miller, Chairman
Against Absent		Q.A. Shakoor, II, Vice-Chairman
VOTE REQUIRED:	2/3 M.E.	Rusty Russell Clark, Secretary

Res No. 2020-104	
Page Two	
Prepared by:	
Corporation Counsel	Nick Demske
·	
	John A. Wisch
	The area of Delice of
	Thomas Pringle
	Donald J. Trottier
	Bollaid 6. Hottloi
	ted by the County Board of Supervisors of
Racine County, Wisconsin, is h	ereby:
Approved:	
Vetoed:	
Date:,	
Jonathan Delagrave, County Ex	cecutive continue con

EXHIBIT "A" Fiscal Year: 2020

					BUDGET	BALANCE
	ACCOUNT	CURRENT	CURRENT	TRANSFER	AFTER	AFTER
ACCOUNT NAME	NUMBER	BUDGET	BALANCE		TRANSFER	TRANSFER
SHERIFFS OFFICE - MD - S	NOT IN BUDGET BOOK					
DOJ - 21 LAW ENF GRNT	NEW ACCOUNT	0	0	(49,200)	(49,200)	(49,200)
	TOTAL SOURCES			(49,200)		
C/S- DOJ 21 LAW ENF	NEW ACCOUNT	0	0	38,360	38,360	38,360
CAPT - DOJ 21 LAW ENF	NEW ACCOUNT	0	0	10,840	10,840	10,840
	TOTAL USES			49,200		
				0		
FUNDS TO BE USED BY C	THER PARTICIPATING AG	ENCIES:				
Agency	Description	ILINOILO.		QTY	Unit Cost	Total Cost
Dodge County	Motorola APX 6000 porta	able radios		2	4,180	8,360
Jefferson County	Ballistic Shields			2	1,869	3,738
Jefferson County	Cannon DSL Camera			1	1,462	1,462
Jefferson County	Dynamic entry ram			1	300	300
Jefferson County	Halligan Entry Tools			2	250	500
Jefferson County	Silynx tactical comm headsets			8	500	4,000
Kenosha County	Confidential funds					7,371
Kenosha County	Lawmate Key Fob DVR			6	268	1,608
Kenosha County	Phoenix KR Infrared Beacon			7	23	161
Kenosha County	Roo M-Fak kit basic (first	aid kits)		7	80	560
Kenosha County	Window tint on 1 unmarl	ked squads		1	300	300
Walworth County	minivan used for surveila	ance operations		1	10,000	10,000
	Total funds earmarked fo	or other participa	ting agencie	s:		38,360
RACINE COUNTY PURCHASES:						T
	Description Osprey Exerior Enclosure	e Pole Camera, so		QTY	Unit Cost	Total Cost
	system, weatherproof sy		J.G.	1	10,840	10,840
	Total funds earmarked fo	or Racine County	:			10,840

The Grant period is from 8/1/2020 through 6/30/2021 any funds remaining at the end of 2020 will be carried forward

EXHIBIT "A"

2020

Fiscal Year:

					BUDGET	BALANCE
	ACCOUNT	CURRENT	CURRENT	TRANSFER	AFTER	AFTER
ACCOUNT NAME	NUMBER	BUDGET	BALANCE		TRANSFER	TRANSFER

## FINANCE COMMITTEE RECOMMENDATION

After reviewing the Resolution/Ordinance and fiscal information supplied, your Finance Committee recommends FOR--AGAINST adoption.
REASONS

FOR	AGAINST